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e S0l obd A= woll thste] WA 2/ +y'+2/ +w=69]
Solopd Ad (&, v, 2, w) Q) e Foma k=
=449 e Hy=,Co=,C, =84

10 @189
21 (FhollM a0l FOH oD 2 0| HRE LIEXL

27 FDelA £(2) =3 TE f(4)=40]28 27 (o] o3t

4] A 19 Fegh2 1, 2, 3 5 sholaL 3, 4, 5,
69] FE2 3, 4, 5, 6 FolA ANE FHESH] Bt &
fa)<f(0)7} HEg d3A7IH HER k= 499 =
3% H,=3%,C,=105

(ii) £(4)=4%) H5
ool A1, 2, 39 2 1, 2, 3, 4 FolA 37HE
FE5to] "staL, 5, 6] g2 4, 5, 6 T 271E
SEsto B3t & f(a) <f(b)7} H=5 A7 HER
Tk AL = H, x ,H,=,C,x,C,=120

(ii)) £(2)=3, f(4) =49 73§
Y99 A 19 g2 1, 2, 3 5 shfolal, 4 39
ke 3, 4 T sholth, ERL, 5, 69 Fgh2 4. 5,
6 FollA 2715 FEsto] "t 3 f(a) <f(b)7} H=F
W7 HER Fohe F9 o=
3x2x;H,=3%x2x,C,=36

(i), (ii), ol &gt} 228 WEA 7= T4 £ 7

105+120—36=189
n(AUB)=n(A)+n(B)—n(ANB)

}

11 =60

EA9 2304 | f(2) —f(y) | 228 WZA7I= A HS daes
I

o] 4719 x 9] Atojet F E4l 53¢ FollA 37HE ©sted OF
oA TN 1, 2, 3, -, 75 vigshe o] 2t
Zouvzg C,





